a+b|Inequa“ﬁesmﬂﬂ1DechnathAﬂon

Name:

1]

Which sign makes the sentence true?

1.3-26 ? 24

B
Which sign makes the sentence true?

2.1+-42 7 1.6

Bﬂ

Which sign makes the sentence true?

728 ?7 3
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Name:

M

Which sign makes the sentence true?

1.8+-2 7 23

[+
Which sign makes the sentence true?

355 7 14

Bﬂ

Which sign makes the sentence true?

462 7 2.3
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Name:

1#7]

Which sign makes the sentence true?

2.2

~4.4 7 1.8

[+
Which sign makes the sentence true?

6.5+-26 7 1.1

Bﬂ

Which sign makes the sentence true?

832 7 1.1
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Name:

#10

Which sign makes the sentence true?

9:-12 7 14

#11

Which sign makes the sentence true?

1.4+-28 ? 1.9

#12

Which sign makes the sentence true?

9538 7 1.1
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a+b | Inequalities with Decimal Division Answer Key
Question Answer
#1 choice 2
#2 choice 1
#3 choice 1
#4 choice 3
#5 choice 3
#6 choice 3
#7 choice 2
#8 choice 3
#9 choice 1
#10 choice 1
#11 choice 2
#12 choice 2
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